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A1. ZxoAIKO BIBAlo oeA. 28
A2. Zx0AIKO BIBAiIo oeA. 16
A3. Xx0oAk6 BLBAlo oeA. 13
Ad.i) A

ii) A

iii) =

iv) A

V) A

©OEMA B

Bl. f(z) = z° + az? — 1
f'(z) = 32 + 2az
loxUel OTL:

fi(-1)=9&

3(-1)* +2a(-1) =9«
3—2a=9¢&
—2a=9-3¢&

—2a =6

a=—3

B2. f(z) = z° — 3z° — 1
f'(z) = 3z — 6z

‘Eotw (€): y = Az + b n e&iowon g epantouévng g Cf oto onyeio enapng A(1, f(1)).
A=f'(1)=3-1"-6-1=3—-6=—3

Apa(e):y=—-3z+1b

f)=1"-3.1*-1=1-3-1=-3

APaA(1,-3)E(e) & —3=-3.1+b&ph=—-3+3=0

TeAkaq, (8): y = —3x.
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B3. loxUel OTL:

B4  f(0)=0°"-3.0°—-1=-1
f(2)=2"-3.22-1=8-3-4-1=-5

apoa 3-f(0)—k-f(2)=T7Te
3-(-1)—k-(-5)=Te
—3+bk=T%
S5k=T7T+3e
5k=10<
k=2
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Vi —x—2
r. lim f(z) = lim Y- 2% _

z—0 z—0 ZT

(Vi—z-2)(Vi—z+2)

= lim —
2—0 z(Vi=—z42)

= lim 4—:v2—22
z—0 w(\/4—$+2) -
. 4 - —4

= lim =

=0 g(v/4 -z + 2)

= lim

£
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2. Na va sivat ouvexng n f oto £y = 0 npéneu:

lim £(z) = £(0) &
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a=-3
, vVd—x—2
r3. f'(z) = ( " )R
- WVid-z-2) - (V4d—2—-2) (a)
- 2\/}1:-(4—x)’x—(\/4—m—2)
iz —vV4d—az+2
x2 N
— 3 __»\/ —
dpa f'(3) = Ak : 3+2:—_%_1+2—_i:——1—
32 9 9 18
F4. loxvel O6TL:
. fB+h)— f(3) / 1
w n = ="
o fB+h)—F3) k.
iy T g e
1 k -1 k k—1
2( 18)+9 2 9+9 2 & 5 —92& 8k =19
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22 4 1
M. R(2) = — — . —
@) =51=351 =™
tZ
A2 h(t) = —
(t) =33
t2 2t t
hlt:—l:—:_
() (24) 24 12
2 1
apa h’(2) = E = Eml’mzn
t? t?
(=200 =6 o
t
.V’t:—,:—:—
V()= (7) =5 =3

4 .
V'(4) = 5 = 2m®|min



